ONOMETRICAL RATIOS OF COMPOUND ANGLES




1) sin (A + B) =sinA . cosB + cosA . sinB

2) sin (A -B) =sinA . cosB - cosA . sinB
3) cos (A + B) = cosA . cosB - sinA . sinB

4) cos (A - B) = cosA . cosB + sinA . sinB



tanA + tanB
1 — tanA.tanB

tan (A +B) =

tanA — tanB
tan (A-B) = an an

1+ tanA.tanB




cotA cotB — 1

cot (A+B) =
cotB + cotA

cotA cotB + 1

cot (A—B) =

cotB — cotA
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sin 150°

= sin (90° + 60°)

= sin 90°. cos 60° + cos 90°. sin 60°
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sin (A + B) sin (A - B) @% TN IS [ARIPTAI-2003 R, 049, *3¢,"38R]

FAE ¢ sin (A + B) sin (A - B) = sin?A - sin’B.
cos (A + B) cos (A - B) 4¥ WI§ F&? , [AFAI—2006R, "38R,’S€T]

AW ¢ cos (A + B) cos (A — B) = cos?B - sinA. .
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AT ¢ (AGATWNR, A+B+C=n
= A+B=n-C

s cos(A+B)=cos(m-C)=-cosC _
sin (x + 30°) - sin (x - 30°) 97 WF IS? [AFT1- 2000, "0¢R, ‘o]

AWIYTH ¢ sin (x + 30°) —sin (x — 30°)
= (sinx cos 30° + cosx sin 30°) — (sinx cos 30° - cosx sin 30°)
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= sinx . 2 +cosx.2-smx. 2 +COSX.2-COSX.
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= sin 45° cos 30° + cos 45° sin 30°
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331 cos 21° 31" . cos 8° 29’ - sin 21° 31’ sin 8° 29’ G} WH F&r  [IRFNI-R003
FANTT ¢ cos 21° 31" . cos 8° 29’ - sin 21° 31 sin 8° 29’
= cos (21° 31" + 8° 299 |
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= cos 30 =7

AR cos 20° 32’ . cos 9° 28’ - sin 20° 32’ sin 9° 28’ OF WA FS?

TR 2 cos 20° 327 . cos 9° 28" — sin 20° 32’ sin 9° 28’ [RIFIPTA1-003, '0R, S SR, "3 5]
= cos (20° 37’ + 9° 28") o ' (-
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